GD1700166/GD1700169




BEFORE MOUNTING READ THIS DOCUMENT FIRST!

MOUNTING INSTRUCTIONS VANE-SWITCH

Reason for the application of the vane-switch

The vane-switch is a guard against a shortage of combustion air. If the air flow through the DA appliance
decreases as a consequence of, for example a cut out of the transport air fan, the vane —switch sees to it that
gas supply remains shot off or is shot off if this happens during function . The heater will be locked.

The present guard which is based on air pressure measurement is sensitive for pollution and causes problems,
especially when applied in poultry houses. The vane-switch is less sensitive for pollution.

Application of the vane-switch

The vane-switch can be applied in any DA-appliance with a 1400 rpm motor and a 4- or 6 bladed metal
propeller. Appliances with a 900 rpm motor have a too low air volume for a proper function of the vane switch.

Mounting Instructions

* Fitting the long or short vane-switch
ATTENTION !!!

For application on a DA 4 & DAP 4, DA 6 & DAP 6 en DAP 13, use the long version of the vane-switch. For all
other applications of the vane-switch, use the short version.

The long version can be recognized by the hole (2,5) in the arm of the vane. See fig. 4.

To start with, remove the air pressure measuring pipe, the pressure switch GW3 and all relevant parts, in case
mounted on the appliance.

The vane switch should be placed on the body of the DA(P) burner between the propeller and the burner
chamber. That is the same place where air the pressure measuring pipe has been mounted. Figure 1 shows on
what spot and in what position the switch should be fixed. It is important that the vane switch is fixed the
correct way. The switch should stand in line with the appliance, angularly fixation will lead to bad security of
the heater.

In existing appliances thel2mm hole in the body is present. For montage you will need a M8x16 bolt, a M8 flat
washer, M8 locknut and a washer D= 3d of stainless steel only. Figure 2 shows the mounted situation.

In the future the 12mm hole will be replaced by a 8,5 mm hole and a 3,5mm hole will be added in the same
line. For the DA(P) 45 heater, a second hole of 12mm will be added next to the 8,5mm hole, in order to pass
the wire. The 3,5mm hole is for positioning the vane switch. This way montage of the switch is only possible in
one way. The 3,5mm whole will be sealed by a rivet. The flat washer D=3d will not be necessary and can be
replaced by a M8 washer. Figure 3 shows mounting instructions with altered hole pattern.

*Electrical connection

The vane switch has been provided with a switch contact. The black wire is the common. The white wire is the
contact that is open in resting position is normally open. The red wire is the contact that is closed in resting
position, normally closed.

VP 7730 print

If there is a VP7730 print board in the appliance, then the vane switch should be connected to the connections
of the limit thermostat. The limit thermostat can have 2 possible connections.

1. The limit thermostat/clixon has been connected to the print board, clamp 17, 18, 19 (Clixon/LD2)
The vane switch is connected as follows:




- the middle contact of the Clixon will remain on k18
- disconnect the normally closed contact of the klaxon from k17 and connect to the black wire of the
vane switch. Use the material supplied.
- The normally open contact of the clixon will remain on k19, the red wire of the vane switch is also
connected to k19.
- The white wire of the vane switch is connected to k17.
2. The limit thermostat/clixon has been put in the thermo couple circuit.

A special clixon has been mounted, supplied with a NC contact and gold contacts, Priva article
nummer 657629. The vane switch is connected as follows:
- disable the connection between k18 and k17.
- connect the black wire of the vane switch to k18.
- connect the white wire of the vane switch to k17.
- connect the red wire of the vane switch to k19.
Make sure that relay D has been carried out as timer. This must be set on 15 seconds.

VP 8805 print

If there is a VP8805 print board then it has been secured by a so called resting position check. This means that
the vane switch should be in resting position before the heater is able to start. If for example the heater is
ventilating and there is a heat demand, then the fan must stand still first to enable the vane switch to come in a
resting position. Only after the resting position has been acknowledged the transport fan will start ventilating
and switch the vane again.

The vane switch should be connected to the clamps of the LD2:
- connect the black wire to k16
- connect the white wire to k17
- connect the red wire to k18

Part list Vane switch short : Part list Vane switch long:
Priva code Priva code
1. Vane switch short 700166-2 8. Vane switch long 700168-2
-Micro switch - micro switch
Matsushita ABV 161061 651345-3 Matsushita ABV 161061 651345-3
-Bracket 651347-3 - Bracket 651347-3
- Vane 65x50-short (A) 651346-3 - Vane 65x50-long (B) 651344-3
- Spirol bush 651348-3 - Spirol bush 651348-3
- Protective hose 950mm 3804216-3 - Protective hose 950mm 3804216-3
2. Tyrap 3802561-3 2. Tyrap 3802561-3
3.SS Rivet 3,0x 6 480294-3 3.SSrivet 3,x6 480294-3
4.SS bolt M8 x 16 480294-3 4.SS bolt M8 x 16 480294-3
5. SS washer M8 (2x) 480436-3 5. SS washer M8 (2x) 480436-3
6. SS flat ring D= 3d 480456-3 6. SS flat ring D= 3d 480456-3
7.SS locknut M8 480136-3 7. Locknut M8 480136-3
Cable clamp junction 3655315-3 Cable clamp junction 3655315-3

The codes match with those numbers from figure 2,3, 4.




«+ LEES EERST DIT DOCUMENT VOORDAT U AAN DE MONTAGE BEGINT ! ** VP 7730 print
INBOUWBESCHRIJVING VAANSCHAKELAAR Als de VP7730 print in het toestel aanwezig is, dan moet de laar op de van de maximaal
ggg?%i%%%ﬂsggngg
zijo:
: o-%gggriss.t!!.g:._o. 19 (klixon/LD2).
1 h % De vaanschakelsar wordt op de volgende manier 1
wvoor dat de @ ges! blijft of afgesk wordt als het tijdens bedrijf gebeurt. Het toestel zal in - Op k18 blijft het midden contact van de klixon
crgrenduling gean, .fiigiegggrﬁsgigzgi
van de vaanschakelaar. Gebruik hiervoor de meegeleverde amp.
or._,,,.ze,.._zé.__éaacgaaoui.als:igawoigg!g:!ii! .o:-.ﬁ:.!ﬁu;%!gi%g.iaigic.%
de twepassing o ki 5-&.:<§%9<%ti%§<8«§. wordt onder sangesloten.
i & o - De witte draad van de vaanschakelaar wordt onder k17 aangebracht.
Toupassing ven de vesnschakelaar 2. De is in het thermokoppelcircuit opgenomen.
O ...._......Erc_a!ri..:q!D>.§l”o§i§g§a§§§!!flog mr!gggggg;gsgsg
taleny woaier. By Jien met een 900 toeren motor is de luchtstroom te laag om de vaanschakelaar goed te codenummer 657629. De vaanschakelaar wordt op de volgende manier aangesk
Tatuss functioneren, - haal de doorverbinding tussen k18 en k17 eruit.
- de zwarte draad van de op k18
- de witte draad van de laar op k17 it
Lovinsente vout et inbiuwen - de rode draad van de hakelaar op k19 aansl
* Liuntenen van de vasnschakelaar lang of vaanschakelaar-kort Let erop dat relais D als timer uitgevoerd is. Deze moet op een tijd van 15 seconden ingesteld staan.
LET OP 11! VP 8805 print
<oiE.e--r.e5§o>uro>1..c>oogu!c=du’§§
Voor alle andere toepassingen de vaanschakelaar-kort monteren. Als de VPB805 print in het toestel aanwezig is, dan is de beveiliging uitgevoerd met cen zog
De kelaar-lang is herkenbaar aan het gat (62.5) in de arm van de vaan. :!ag.gg:g:.glggggi%!i%
Ziw figuut 4. igg;ggg;ggégiér!lg
i:sigi;e%%%iga-%!gag
Vurwaijder in cerste instantie het luchtdn iipje. de dn lsar GW3 en alle bijbehorende onderdelen, komen. Als de ruststand gemeld is, dan pes start de portiuchtventilator opnieuw zodat de vaanschakelaar
indicn deze in het 1oestel gemonteerd Zijn. kan omschakelen.
Go veanschakelosr most in de romp van het DA(P)-toestel gemonteerd worden tussen de wadier en de De vaanschakelaar moet op de kiemmen van de LD2 aangsioten worden:
eeeee a{gés.gwga.&nlsoci;gg%tﬂ.Saosna - de zwarte draad op k16 aansluiten.
Wikt up welke plaats en in welke positie de g d moet Het is belangrijk dat de - de witte draad op k17 sansluiten.
ot ulanr op de juiste manier in het toestel bevestigd wordt. De schakelaar moet in fijn met het toestel - de rode draad op k18 aansluiten.
stuun, won huekvordraaing van de schakelaar heeft een slecht functioneren van de beveiliging tot gevolg.
1 tustuande tuestellen is een gat van @12 mm in de romp sanwezig. Voor de bevestiging wordt gebruik Onderdelenlijst Vaanschakelaar-kort : Onderdelenlijst Vaanschakelaar-lang :
gemouki von cen MBx16 bout, een viakke sluitring M8, een M8 borgmoer en een viakke ring D =3d allen van
AVS. In tiguur 2 is de montage aangegeven. Priva code Priva code
1. Vaanschakelaar-kort: 700166-2 8. Vaanschakelaar-lang: 700168-2
1 de towkuinst wordt het gat van 212 mm vervangen door een gat van @8,5 mm en komt in het verlengde -Microschakelaar -Microschakelaar
vttt vot 73,5 mm erbij. Voor het DA(PI45 toestel zal er naast het gat van @8.5 mm oen tweede gat van Matsushita ABV 161061  651345-3 Matsushita ABV 161061  651345-3
212 wun toegevoegd worden om de luitdraden door te k Het gat van 23,5 mm is bedoeld -Montagebeugel 651347-3 -Montagebeugel 651347-3
wihh de vaenschakelnar op de juiste wijze te posits Plaatsing van de laar kan dan nog maar op -Vaan 65x50-kort (A) 651346-3 -Vaan 65x50-lang (8) 651344-3
s natier gubeuren. Door het gat van ©3,5 wordt een popnagel sangebracht. De viakke ring van D=3d is -Spirolspanbus 651348-3 -Spirolspanbus 651348-3
nigt mesr noodzakelijk en kan el vervangs den door een M8 viakke sluitring. In figuur 3 is de -Beschermslang 950 mm.  3804216-3 -Beschermslang 950 mm. 3804216-3
it bubwavijze asngegeven bij sangepast gatenpatroon in de romp. 2. Tyrap 3802561-3 2. Tyrap 3802561-3
3. RVS Popnagel 3,0 x 6 480294-3 3. RVS Popnagel 3,0 x 6 480294-3 . L Do\ \O
4. RVS bout M8x16 480294-3 4. RVS bout M8x16 480294-3 . R/
* Cluctrische sensiuting 5. RVS sluitring !!N.c 480436-3 5. RVS shitring M8(2x) 480436-3
6. RVS viakke ring D =3d 480456-3 6. RVS viakke ring D=3d 480456-3 «
Ue vaanschokelsar is uitgevoerd met een hakel De zwarte draad is het gemeenschappelijk+ 7. RVS borgmoer M8 480136-3 7. RVS borgmoer M8 480136-3
contect, comnon. De witte draad is het contact dat in een ituatie geopend is, ly open. De roce Kabelklem doorverbinding  36653156-3 Kabelklem doorverbinding ~ 3655315-3
aruod is het contact dat in een ituatie gesl is, ly closed.
De nummers komen overeen met de nummers uit figuur 2,3 en 4.
‘wkeningre. : 320000014\C Tekeningrv. : 320000014\C
Ostum 8-09-1996 Datum :  1809-1996




